2020-01-15 Rabbit 15.1.

6 poytaa, 12 paria. Jakomaara: 18. Keski: 90.

L opputulos

Sja Pari Pisgeet % Nimi J-ID Kerho
1 9 121 67,2 Jarmo Laakso - Lasse Lindholm 13652784 Salon Bk
2 1 108 60,0 Timo Alanko - Seija Suominen 2737 Salon Bk
3 10 105 58,3 Jaakko Salo - Matti Alanko 29812736 Salon Bk
4 12 102 56,7 Hanna Ruska - Jari Hilska 1883 Salon Bk
5 3 99 55,0 Taisto Louhikoski - Antti Voitto 27411391 Salon Bk
6 2 97 53,9 Timo Mékela - Riikka Sajaniemi 1319 Salon Bk
7 5 91 50,6 Elise Jauros - Matti Leppala 17612970 Salon Bk
8 1 88 48,9 Mikko Susi - Kalle Kuisma 29712738 Salon Bk
9 8 83 46,1 Jaakko Viima - Matti Rintala 20803024 Salon Bk

10 7 71 39,4 Merja Mdlsa - Terhi Mantyla 28391907 Salon Bk
11 4 60 33,3 Hannu Lindeberg - Riitta-Liisa Mékeli1828 1318 Salon Bk
12 6 55 30,6 Janne Blomgvist - Tuomo Sajaniemi 28402979 Salon Bk
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